Hmax=9.50

LN\ 2 —
vy T
B AY
— 1
[
= 1
( S
\ |
)
) o [
B |
/" [
5 N A o S
——L_ | 7 B 2
| —\
— IS
=\ 00, / | - .
o T vyl ‘ /
A\ S |
= v - . / / ’
Yy 4 O\ | \
/
2y / / /
\ — |
‘\
I _

Sl
§\\ ot ///%7

@ E=120
Hmax=9.50

E=200
hmax=Serbest

E=2.00
hmax=Serbest

E=200
hmax=Serbest

0
e @
. £=120 @ 7 2 /
imax=12.50 ( , .
| “ ] &) & A 1cq]
% - e 71 1.5 J
N N e
| g >
: 0) Jex -‘/5:1.50
Za—— N T ZE) ?/ " YengoleBkat/
\ | |= E /

\

e NI\ NN E = /%

B
A) H Yengok=8 kat __ -
) E:1.50 .
s Yengok=8 kat P —

Z { / &

=

[ E:1.50 )
Yencok=8 kat E:1.50L

— [ Yengok=:
0= . —— ‘\—J
\

\

= £l
) = 2
[;'\PAR’KJ" - ;ARK
LN —
J : 14> 14
A

E=2.00

hmax=serbest K >
\ A .
0 \ /
J ‘ 0 E:1.50 E:1.50
e Yengok=8 kaL—(

o~

PE

N E=2.00
hmax=serbest E:1.50 i
Yengok=8 kat Yengok=8 kat
).
o A |
/ 1,4 E=2.00 O \/ § B .
Yengok=serbest ] o
E=2.00 ” / ’ ; ) .

hmax=serbest




